1.

Gg3t gol 7t 00° A
AABCOA cos B9l 2 ?

)
@

©)
®

®

U | ot
ol oot ©

247t

co| Ut

oflh




FA}
=

o|J
A

00’—
©l &
<
d
=
©
R
Q@ ©
R
T © @



3. the A7 ghol AV AL AL

@ sin30° @ cos30° @ sin90°

@ tandb° ® tanb0°



4. o2 1HA cosx +siny & Ff= -5l

D V2 @ 22 ® V3 @ 2+3 ® 33



=

oo
S

T w4 9= A2

@ sin30° = @ cos30° = @ tan45° =1

@ cos4b° =

N —
1\3<|
2o

® tan60°

gl &



]
=t

A(5, 3), B(2, 1) = Atb= A4o] x 59 49

712 0 2 & u, tano ©] ZHS FL5HH?

@ - ©)

[SCRN V)



7. sin 0° x tan 0° — cos 0° 9] ZF= A , sin 90° X cos 90° + tan 0° 9] S
Bat& o, B-A 9 #e?

© -2 @ -1 ® 0 @1 ® 2



8. AZ4ZE ABC oA AB = 8cm , _4/3em-

C=4V3cm ¥ 0, /B & 27]=?

oy

O 15° @ 30° ® 45°
@ 60° ® 75°




o2 2oflA £C =90°, ABLCD ©]1L /B = x & I, T} 5 &4

A2 A7
A
D
B C
AC CD CD
O sinx=— ©) == ® tanx = —
S X ﬁiB COS X & anx AD
D BD
@ sinx = — ® = —
sinx = = cosx = —



7
1 EG

welo] ojzh4
CE 9

in x
o o, sin

g A& x
] ZCEG
o|F o 7 2+

o 3

=7

@ 3a

® V2a

S

<



11. o3 I™oA ¥ 0 9 ¥Ex| 52| Ho|7t 5,
BC =6 < o, cosA 2] = F#51H?

@
@

3
@g ®
® 2

IR TN
Wl



12.

the a9} o] Mg Aol7t 1
Q1 € 91 A ColA A8 AB] 2

@ CD =sin40°

@ BD =1-cos40°

sin 20°

sin40°

@ ACAD = %sin40°x (14 cos40°)

® AC=

® ACAO = %sin40°




1
13. tanA =1 % @, (1+sinA) (1 -cosA) + 5 o] Zh29(H, 0° < A <

% @ 1 ®VZ @ V3 @37vg



14. thg I3 o] WA Folrk 1 9 AR YA thE BE ol 85}
o] BD ¢ Zoli=?

Y
1.0724 C
1
A
T n
O[*~¢.6821--"B D =

O -0.724 @ -0.6821 ® 0.3903
@ 0.3179 ® 0.6821



15.

cos(2x — 30°)

0°<x<90°)

@ o°

V3
2

@ 30°

KX
=

o
-

ZA7IE x 9 =

® 45°

@ 60°

® 90°



